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NEW QUESTION 1
Which three statements are true about views in an Oracle database? (Choose three.)

A. Views can be updated without the need to re-grant privileges on the view
B. Tables in the defining query of a view must always exist in order to create the view
C. The WITH CHECK clause prevents certain rows from being displayed when querying the view
D. Data Manipulation Language (DML) can always be used on views
E. Inserting one or more rows using a view whose defining query contains a GROUP BY clause will cause an error
F. Deleting one or more rows using a view whose defining query contains a GROUP BY clause will cause an error
G. The WITH CHECK clause prevents certain rows from being updated or inserted

Answer: BDE

NEW QUESTION 2
Which two statements are true about the Automatic Diagnostic Repository (ADR)? (Choose two.)

A. The ADR base defaults to $ORACLE_HOME/rdbms/admin ifneither DIAGNOSTIC_DEST nor ORACLE_BASE is set
B. The ADR base defaults to $ORACLE_HOME/dbs if the DIAGNOSTIC_DEST parameter and the ORACLE_BASE environment variable are not set
C. It supports diagnostics for Automatic Storage Management (ASM)
D. It supports diagnostics for Oracle Clusterware
E. It is held inside an Oracle database schema

Answer: AE

NEW QUESTION 3
You execute this command:

During the export operation, you detach from the job by using CTRL+C and then execute this command: Export> STOP_JOB=immediate
Are you sure you wish to stop the job ([yes]/no): yes
Which two statements are true about the job? (Choose two.)

A. You can no longer monitor it
B. You can reattach to it and monitor it
C. It is paused and can be resumed
D. It continues to run in the background
E. It terminates

Answer: AE

NEW QUESTION 4
You have been tasked to create a table for a banking application. One of the columns must meet three requirements:

 Be stored in a format supporting date arithmetic without using conversion functions

 Store a loan period of up to 10 years

 Be used for calculating interest for the number of days the loan remains unpaid Which data type should you use?

A. INTERVAL YEAR TO MONTH
B. INTERVAL DAY TO SECOND
C. TIMESTAMP WITH LOCAL TIMEZONE
D. TIMESTAMP
E. TIMESTAMP WITH TIMEZONE

Answer: B

NEW QUESTION 5
The CUSTOMERS table has a CUST_CREDIT_LIMIT column of data type NUMBER. Which two queries execute successfully? (Choose two.)

A. SELECT NVL(cust_credit_linit * .15, ‘Not Available’) FROM customers;
B. SELECT NVL2(cust_credit_linit * .15, ‘Not Available’) FROM customers;
C. SELECT NVL(TO_CHAR(cust_credit_limit * .15), ‘Not Available’) FROM customers;
D. SELECT TO_CHAR(NVL(cust_credit_limit * .15, ‘Not Available’)) FROM customers;
E. SELECT NVL2(cust_credit_limit, TO_CHAR(cust_credit_limit * .15), ‘Not Available’) FROM customers;

Answer: BC

NEW QUESTION 6
Which two statements are true about the WHERE and HAVING clauses in a SELECT statement? (Choose two.)
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A. Aggregating functions and columns used in HAVING clauses must be specified in the SELECT list of a query
B. WHERE and HAVING clauses can be used in the same statement only if applied to different table columns
C. The HAVING clause can be used with aggregating functions in subqueries
D. The WHERE clause can be used to exclude rows before dividing them into groups
E. The WHERE clause can be used to exclude rows after dividing them into groups

Answer: CD

NEW QUESTION 7
You execute this command:

Sufficient storage is available in filesystem /u01.
Which two statements are true about the BIG_TBS tablespace? (Choose two.)

A. AUTOEXTEND is possible for the datafile
B. It must be bigger than the largest SMALLFILE tablespace
C. Additional data files may not be added
D. It will be a dictionary-managed tablespace by default
E. It will always have a 32K blocksize

Answer: AB

NEW QUESTION 8
Which three statements are true about dropping and unused columns in an Oracle database? (Choose three.)

A. A primary key column referenced by another column as a foreign key can be dropped if using the CASCADE option.
B. An UNUSED column’s space is reclaimed automatically when the block containing that column is next queried.
C. An UNUSED column’s space is reclaimed automatically when the row containing that column is next queried.
D. Partition key columns cannot be dropped.
E. A DROP COLUMN command can be rolled back
F. A column that is set to UNUSED still counts towards the limit of 1000 columns per table

Answer: ABF

NEW QUESTION 9
In your data center, Oracle Managed Files (OMF) is used for all databases. All tablespaces are smallfile tablespaces.
SALES_Q1 is a permanent user-defined tablespace in the SALES database.
Examine this command which is about to be issued by a DBA logged in to the SALES database: ALTER TABLESPACE sales_q1 ADD DATAFILE;
Which are two actions, either one of which you could take to ensure that the command executes successfully? (Choose two.)

A. Ensure that DB_RECOVERY_FILE_DEST and DB_CREATE_FILE_DEST each specify with at least50 Mb of available space.
B. Specify a path in the DATAFILE clause of the command specifying a location with at least 100M of available space.
C. Ensure that DB_CREATE_FILE_DEST specifies a location with at least 100 Mb of available space.
D. Add the AUTOEXTEND ON clause with NEXT set to 100M.
E. Ensure that DB_RECOVERY_FILE_DEST and DB_CREATE_FILE_DEST each specify locations with at least 50 Mb of available space.

Answer: BD

NEW QUESTION 10
Which three statements are true about GLOBAL TEMPORARY TABLES? (Choose three.)

A. A TRUNCATE command issued in a session causes all rows in a GLOBAL TEMPORARY TABLE for the issuing session to be deleted.
B. GLOBAL TEMPORARY TABLE rows inserted by a session are available to any other session whose user has been granted select on the table.
C. GLOBAL TEMPORARY TABLE space allocation occurs at session start.
D. Any GLOBAL TEMPORARY TABLE rows existing at session termination will be deleted.
E. A GLOBAL TEMPORARY TABLE’S definition is available to multiple sessions.
F. A DELETE command on a GLOBAL TEMPORARY TABLE cannot be rolled back.

Answer: BCF

NEW QUESTION 10
The SALES_Q1 and USERS tablespaces exist in one of your databases and TEMP is a temporary tablespace. Segment creation is not deferred.
You execute this command:

Which three statements must be true so that the SALES user can create tables in SALES_Q1? (Choose three.)
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A. The sales user must have a quota on the TEMP tablespace
B. The sales user must have a quota on the SALES_Q1 tablespace to hold the initial extends of all tables they plan to create in their schema
C. The sales user must have been granted the CREATE SESSION privilege
D. The sales user must have their quota on the users tablespace removed
E. The sales user must have a quota on the SALES_Q1 tablespace to hold all the rows to be inserted into any table in their schema
F. The sales user must have been granted the CREATE TABLE privilege

Answer: BDF

NEW QUESTION 12
Which two statements are true about the SET VERIFY ON command? (Choose two.)

A. It can be used only in SQL*Plus
B. It displays values for variables used only in the WHERE clause of a query
C. It can be used in SQL Developer and SQL*Plus
D. It displays values for variables created by the DEFINE command
E. It displays values for variables prefixed with &&

Answer: AD

NEW QUESTION 16
Which three statements are true about the Oracle join and ANSI join syntax? (Choose three.)

A. The Oracle join syntax supports creation of a Cartesian product of two tables
B. The Oracle join syntax performs better than the SQL:1999 compliant ANSI join syntax
C. The SQL:1999 compliant ANSI join syntax supports natural joins
D. The SQL:1999 compliant ANSI join syntax supports creation of a Cartesian product of two tables
E. The Oracle join syntax only supports right outer joins
F. The Oracle join syntax supports natural joins
G. The Oracle join syntax performs less well than the SQL:1999 compliant ANSI join syntax

Answer: CDF

NEW QUESTION 20
Which statement is true about aggregate functions?

A. Aggregate functions can be nested to any number of levels
B. The AVG function implicitly converts NULLS to zero
C. Aggregate functions can be used in any clause of a SELECT statement
D. The MAX and MIN functions can be used on columns with character data types

Answer: A

NEW QUESTION 23
Which three statements are true about table data storage in an Oracle Database? (Choose three.)

A. Data block headers contain their own Data Block Address (DBA)
B. A table row piece can be chained across several database blocks
C. Multiple row pieces from the same row may be stored in different database blocks
D. Multiple row pieces from the same row may be stored in the same block
E. Data block free space is always contiguous in the middle of the block
F. Index block free space is always contiguous in the middle of the block

Answer: BCE

NEW QUESTION 28
Which two tasks can you perform using DBCA for databases? (Choose two.)

A. Configure a nonstandard block size for a new database
B. Register a new database with an available Enterprise Manager Management server
C. Change the standard block size of an existing database
D. Configure incremental backups for a new database
E. Enable flashback database for an existing database

Answer: BC

NEW QUESTION 32
You execute this command:
CREATE SMALLFILE TABLESPACE sales
DATAFILE ‘/u01/app/oracle/sales01.dbf SIZE 5G
SEGMENT SPACE MANAGEMENT AUTO;
Which two actions must you take to ensure UNDOTBS01 is used as the default UNDO tablespace? (Choose two.)

A. It must be smaller than the smallest BIGFILE tablespace
B. Free space is managed using freelists
C. Any data files added to the tablespace must have a size of 5 gigabytes
D. It uses the database default blocksize
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E. It is a locally managed tablespace

Answer: DE

NEW QUESTION 37
Which two statements are true about the ORDER BY clause when used with a SQL statement containing a SET operator such as UNION? (Choose two.)

A. Column positions must be used in the ORDER BY clause
B. Only column names from the first SELECT statement in the compound query are recognized
C. The first column in the first SELECT of the compound query with the UNION operator is used by default to sort output in the absence of an ORDER BY clause
D. Each SELECT statement in the compound query must have its own ORDER BY clause
E. Each SELECT statement in the compound query can have its own ORDER BY clause

Answer: BE

NEW QUESTION 38
Which three statements are true about inner and outer joins? (Choose three.)

A. A full outer join returns matched and unmatched rows
B. An inner join returns matched rows
C. Outer joins can only be used between two tables per query
D. A full outer join must use Oracle syntax
E. Outer joins can be used when there are multiple join conditions on two tables
F. A left or right outer join returns only unmatched rows

Answer: ABF

NEW QUESTION 39
Which two statements are true regarding the UNION and UNION ALL operators? (Choose two.)

A. Duplicates are eliminated automatically by the UNION ALL operator
B. The number of columns selected in each SELECT statement must be identical
C. The names of columns selected in each SELECT statement must be identical
D. The output is sorted by the UNION ALL operator
E. NULLS are not ignored during duplicate checking

Answer: BE

NEW QUESTION 40
Which three are types of segments in an Oracle Database? (Choose three.)

A. undo
B. index
C. stored procedures
D. sequences
E. tables
F. clusters

Answer: BEF

NEW QUESTION 45
In the spfile of a single instance database, LOCAL_LISTENER is set to LISTENER_1.
The TNSNAMES.ORA file in $ORACLE_HOME/network/admin in the database home contains:

Which statement is true?

A. Dynamic service registration cannot be used for this database instance
B. The LREG process registers services dynamically with the LISTENER_1 listener
C. LISTENER_1 must also be defined in the LISTENER.ORA file to enable dynamic service registration
D. There are two listeners named LISTENER and LISTENER_1 running simultaneously using port 1521 on the same host as the database instances
E. The definition for LISTENER_1 requires a CONNECT_DATA section to enable dynamic service registration

Answer: C

NEW QUESTION 50
Which four account management capabilities can be configured using Oracle profiles? (Choose four.)
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A. the number of hours for which an account is locked after the configured number of login attempts has been reached
B. the number of days for which an account may be inactive before it is locked
C. the maximum amount of CPU time allowed for a user’s sessions before their account is locked
D. the ability to prevent a password from ever being reused
E. the number of password changes required within a period of time before a password can be reused
F. the number of days for which an account is locked after the configured number of login attempts has been reached
G. the maximum number of sessions permitted for a user before the account is locked

Answer: DEFG

NEW QUESTION 52
......
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